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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.

(2) Write answer of all the MCQ questions in main answer sheet.

1 MCQ. 20
(1) What was the population of India in 1991 ?
(A) 54 crores
(B)y 65.58 crores
(C) 77 crores
(D) 84.63 crores

(2) What is the percentage of women's education in India in
2011 ?

(A) 45%
@) 30%
€ 70%
D) 5%

(3) How many women per thousand men are there in India
in 2011 ?
(A) 940
(B) 927
(C) 925
(D) 933

(4)  Which matter is studied for population and society under
sociology ?

(A) Inter activities
(B) Psychological activities
(C) Economical activities

(D) Literature activities

(5) What is the locked area of India ?
(A) 632724
(B) 7823623
(C) 23788362
(D) 3287263
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What is the percentage of education in India in 2001 ?

(&) 40%
@) 5%
©) 35%
D) 65%

When did Robert Malthus introduced his theory on
population ?

(A) in 19th century

(B) in 18th century

(©) in 16th century

D) in 12th century

Which factor is responsible for population growth ?
(A) Religious development

(B) Migration

(C)  Economical development

(D) Agricultural development

What was the infant death rate in 2007 ?

A 15
@) 50
€ 35
D) 55

Which types of event the migration is ?
(A) Population

(B) Biological

(C) Economical

(D) Sociological

Which thing is essential to solve the problem of
migration ?

(A) Internal Conflict

(B) Internal Arrangement

(C) International government

(D) None of these
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(12) In which country Robert Malthus Lived ?
(A) Sweden
(B) China
(C) India
(D) Britan

(13) Who criticize Robert Malthus theory of population ?
(A) Eastarlim
(B) Huvar
(C) Karl Marx
(D) Durkem

(14) When was the family planning programme implemented
in India ?
(A) 1951
(B) 1950
(C) 1954
(D) 1953

(15) Who has introduced the theory of optimum population ?
(A) Lenin
(B) Karl Marx
(C) Sundarce
(D) Durkhem

(16) Which matter is responsible for population growth in
society ?
(A) Birth rate
(B) Proportion of education
(C) Religious
(D) Proportion of morality

(17) How many population India live under the poverty
line ?
(A) 10%
(B) 27%
(C) 29%
(D) 30%
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(18) What percentage of people live in village of India ?
(A) 73% (B) 50%
(©) 70% D) 20%

(19) How many children are born per minute in India ?
(A) 10 (B) 60
©) 30 D) 25

(20) What population was there in India in 1951 ?
(A) 36 crores (B) 46 crores
(C) 40 crores (D) 20 crores

Define the age and sex and discuss its social implication.
OR

Discuss on the meaning of fertility and its types.

Explain the Malthus's theory of population.
OR

Write the importance of study of Indian Population and its
necessity.

(a) Short note : (any one)

(1) Cause of migration

(2) Write the theory of demographic transition
(b) Short note : (any one)

(1) The impact of social development on population
growth.

(2) Theory of optimum population.

Short answers : (any two)

(1) Write the types of migration.

(2) Write the causes of mortality in India.

(3) Write the causes of high birth rate in India.

(4) The relationship between population and society.
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